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RR | 193 23 23.4 24.9 28.5 29.5 27.2 272 |V/min)
V| 772 766 855 902 895 915 940 949 _|(ml)
VE | 149 17.6 20.0 22.5 255 27.0 25.6 256 |(/min)
VO2| 328 509 616 721 828 931 971 971 |(m]/min)
VO2/W| 51 8.0 9.6 113 12.9 14.5 152 152
vCO2 | 305 410 499 601 721 830 892 892 |(ml/min)
Rl 093 0.81 0.81 0.83 0.87 0.89 0.92 0.92
VE/VO2 45 35 33 31 31 29 26 26
VE/VCO2 49 43 40 37 35 33 29 29
VD/VT| 042 0.42 0.42 0.42 0.42 0.40 0.39 0.39
HR| 91 95 102 108 116 125 133 133 |(/min)
VO2/HR| 36 5.4 6.0 6.7 7.1 7.4 7.3 73
METS | 1.49 231 2.79 3.27 3.76 4.22 44 4.4
BP [ 142/64 | 146/65 | 167/59 | 160/56 | 179/49 | 203/59 | 204/58 132/51 |(mmHg)
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RR | 167 24 26,3 26.4 28 28.6 262 28.6 31.7 317 |(/min)
V| 819 915 964 1000 969 929 985 912 786 786 |(mD)
VE 13.7 2973 253 26.4 271 | 266 258 26.1 249 24,9 |(1/min)
VOZ| 323 729 825 853 868 860 883 890 938 938 __|(ml/min)
VO2/W 5.0 11.4 12.9 133 13.6 134 13.8 13.9 14.7 14.7
VCO2|  99n 574 908 752 762 752 773 762 770 770__|(ml/min)
R 0.90 0.79 1.10 0.88 0.88 0.87 0.88 0.86 0.82 0.82
VE/VO2 42 31 31 31 31 31 29 29 27 27
VE/VCO2 47 39 28 35 36 35 33 34 32 32
VD/NT| 041 0.41 0.39 0.39 04 0.4 0.39 0.40 0.39 0.39
HR 93 110 115 119 122 124 126 128 129 129 |(/min)
VO2/HR 3.5 6.6 72 13 7.1 6.9 7.0 7.0 7.3 7.3
METS| 144 3.25 3.68 3.81 3.87 3.84 3.94 3.97 4.19 4.19
_BP |_149/59 | 15761 | 17757 | 190149 | 200557 | 193/55 | 209/56 207/56 | 198/59 | 127/57 |(mmHg)
W RE e % wve  ope w10k uam une 6o mTH
pH
PaO2 (Torr)
PaCO2 (Torr)
HCO3 (mm/1)
BE (mm/1)
SAT (%)
SpO2| 99 93 94 93 92 79 86 8l |(%)
Lactate (mmol/1)
NA (ng/ml)
Ad | (ng/m1)
[zAH]) STk,
1.ECGFiR VPB[7L]| jsveB[ L]z [ ][] Qi OO DaVR DaVl Qave |
[ J7vee [ Jomm

2.peakVO2}3 T HIE ( ml/min) @O % THY, IEHIERIT D&%@T% @‘%@*ﬂﬁl:
LEHFORKLE(VENODIE [ Tk mEHHEE
VEmax/MVV= % HESE—L | VEmax/VEpred[ 82.5 ] % (VEpred Vi)

LRAEHHFOPONL [ | Tor ThHY, (EERMIE (PO260 Tor)i: [
PaO2slope= | PaCO2slope=[______|Torr/100mVO2

sEBNCHVHRIZ L ] ozpuse(voz/HRIE [ | vhv o [ awmes
HRmax/THR= %

6. AT (V-slope)= : ml/min AT (Lactate)= D ml/min  NT= 1: ml/min

TEBHIRETFIE | | 1z [ ]
L Sign. O8I O ¥R O4EE 0K OMAN O=SA% O =ZAK O xR O %A ORe




